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1���. �)  �� �������� �� a  =  567 (1 �� ��)   

�� �������� �� b   =  242                                                                  (1 �� ��)     

   (567:7 + 4.242) – 12.8 = 953  (1 �� ��)                  
!) 	
� �����
����� ���
� � �, �� ���
���� ��
������ �� ��������

����
�����        ((��6):3�1).2  � 93, 62 �
� 31                                    (1,5 �� �")  

� ��� 
��� ��� ��������� � 2 �� ��
����� ����� ���
�,

�� 
������� ����
��� �      62                                                                (0,5 �� �") 

�.�. ((��6):3�1).2  =  62 

�
�������
�� �����
����� ���
� �=(62:2+1).3+6=102                    (2 �� �") 

2���.

24 : 4 = 6 � �������� �� 
������� (������ �����
)                                        (1 �� ��) 

�������� � ��������
��
� ���� ���� ������,

�
�������
��  ������� �� ������ �����
 ���� � 6 � (1 �� ��)

30 – 2 . 6 =30 – 12= 18 � �� ���� ����� ��
���� �� ������ �����
    (1 �� ��)

18: 2 = 9 � � ��
������ �� ������ �����
                                                      (1 �� ��)

9 + 6 = 15 � ��
������ �� ��
��� �����                                                    (1 �� ��)

6 + 2 = 8 �  ������� �� ��
��� �����                                                    (1 �� ��)

2.15 + 2 . 8 = 30 + 16 = 46 � ������ � ���������� (1 �� ��)
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� ���
� ��

��� 
���,


�

��� � ������� ��� ���� – �.�. – 9
�.                                           (1 �� ��)

      9
�.(900��.) : 50 ��.= 18 ������                                                    (1 �� ��) 

2. �)    �.10 + 2.�.20= 900 

                     50.�=900 

�=18 ������ � " 
����
�                                                    (3 �� �")

"" �����

!�� ������� 
����
� ��� ��� ���� ������ ������ � ��� ���� ��-��
��� ��������,

�
�������
�� ������ ��� ������� 
����
� � 4 ���� ��-��
��� ��

���� � �������:   900:5=180 ��. � �������, 180:10=18 ������

�)   18.2=36 ��� "" 
����
�     (1 �� ��)

3. #� 18 + 36 + 18= 72 ������                                                    (1 �� ��) 

�������	�: ��� # $%"� $ &��� "� '$($% ����'�( %� ���� �, � %)*� &��(�!%� (��&"��%�

" �!��%�'�%� ($+$%"$, ���� ��� �$ �,$%)'� ��*� � 1 �� ��.

�,$%)'�%$�� $ &("*$(%�. ��$�" �(#� '$($% '�("�%� %� ($+$%"$ �$ �,$%)'� �

*���"*��%") !(�- �� �".

�� �!����$% �(.� �$ ����"(�� # $%",", &��# "�" *"%"*#*  16 �� �". 
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��� ������� – ��.��. –

����.= 18 .= 18 �����

0 + 2.2.��.20= 900 20= 9

      50.50.��=900 =900

��=18 =18 �������
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